Name _______________________________________________
Math 2050, Exam I, Spring 2006

1. Find the distance between the points (3, -1) and (5, 7).

2. Find the intercepts of the graph 
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.  Sketch the graph of the function and label the intercepts.
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3.  If a company makes a product for $4 per item it sells, with a fixed cost of $250, their costs can be represented by the equation C(x) = 4x + 250.  If they can sell the item for $11, their revenue equation for the same product is R(x) = 11x.  How many items does the company have to sell to break even?

4. Find the line perpendicular to the line 
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 and passes through the point
(-1, -2).
5. a) Determine whether the following equation represents a function: 
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b) State the domain of the function: 
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6. Given 
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 , find the following:
a) g(-1)

b) f(k-1)

c) 
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d) 
[image: image9.wmf]h

x

g

h

x

g

)

(

)

(

-

+


7. Consider the function 
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a) Find 
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b) Given that 
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, what is 
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?  If it does not exist, write DNE.

8. a) Find the 
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b) Is the function in part a) continuous at x=1?               YES                 NO

9. a) Find the derivative of the function 
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.  [Hint: You can use #6d.]
b) Find the equation of the tangent line to g at the point (-1, 5).

c) Verify your result from part a) using the power rule and constant rule.  Do your answers match?

d) If g represents the motion of a particle along a trajectory, what does the slope of the tangent line in part b) represent?  Use your own words.
10. Find the derivatives of the following functions:
a) 
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b) 
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11. Find the derivative of 
[image: image18.wmf]1

5

)

(

2

+

-

=

x

x

x

H

.

[image: image19.wmf](

)

(

)

2

2

1

2

2

1

y

y

x

x

d

-

+

-

=



[image: image20.wmf]÷

ø

ö

ç

è

æ

+

+

=

2

,

2

2

1

2

1

y

y

x

x

midpt



[image: image21.wmf](

)

1

1

x

x

m

y

y

-

=

-



[image: image22.wmf]2

1

2

1

x

x

y

y

m

-

-

=



[image: image23.wmf])

(

)

(

)

(

lim

0

x

f

h

x

f

h

x

f

h

¢

=

-

+

®



[image: image24.wmf]f

g

g

f

x

h

¢

+

¢

=

¢

)

(



[image: image25.wmf]2

)

(

'

g

f

g

g

f

x

h

¢

-

¢

=



[image: image26.wmf][

]

)

(

))

(

(

))

(

(

x

g

x

g

f

x

g

f

dx

d

¢

¢

=


_1199372418.unknown

_1199373331.unknown

_1199374689.unknown

_1199375226.unknown

_1199375424.unknown

_1199375347.unknown

_1199374862.unknown

_1199375173.unknown

_1199374812.unknown

_1199373462.unknown

_1199374053.unknown

_1199373208.unknown

_1199373272.unknown

_1199373116.unknown

_1199372202.unknown

_1199372332.unknown

_1199372385.unknown

_1199372266.unknown

_1199371730.unknown

_1199372149.unknown

_1199370576.unknown

_1199370769.unknown

_1199370828.unknown

_1199370648.unknown

_1199350126.unknown

